prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

Home Science

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA
€ ssiro | (17 1BPs CLERK | <&y AFcaT | @ @) CTET
@ csiRucc NET | @ capF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

Signature and Name of Invigilator
1. (Signature)

OMR Sheet No. :
(To be filled by the Candidate)

Roll No.
(Name) , ——
2. (Signature) (In figures as per admission card)
Roll No.
(Name)

) W 1

(In words)

Test Booklet No.

PAPER-II
HOME SCIENCE

Time :1Y/, hours]

[Maximum Marks :100

Number of Pages in this Booklet6

Number of Questions in this Bookles0

Instructions for the Candidates

Write your roll number in the space provided on the to
this page.
This paper consists of fifty multiple-choice type of questi
At the commencement of examination, the question bo
will be given to you. In the first 5 minutes, you are reque
to open the booklet and compulsorily examine it as belo
(i) To have access to the Question Booklet, tear off the g
seal on the edge of this cover page. Do not acceptab
without sticker-seal and do not accept an open boo,
(ii)
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missi
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Bookle
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Numk
should be entered in the OMR Sheet and the OMR 9
Number should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B
and (D). You have to darken the oval as indicated below 0
correct response against each item.

Example: (AD ® D>

where (C) is the correct response.

Your responses to the items are to be indicated ixrtbaer
Sheet given inside the Paper | Booklet onlyf you mark at
any place other than in the ovals in the Answer Sheet, it
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the|
booklet, except for the space allotted for the relevant en
which may disclose your identity, you will render yours
liable to disqualification.

You have to return the test question booklet and OMR An

(ii)

sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

Tally the number of pages and number of questions in

Tentira & fera fdr

blof T&et 56 o S I T W 37T Aot TR foAfau |

2. THVRE-UF § UEN Sgfashedia IR € |

RS oRieT WRET B W, UTH-GfEdehT 3T < St SR | et e

Dklet firrz srept wrom-gficert @ier qer Swe! ffefad st %

pted fom fidt ST forraht sirer st v At & -

V() T-gfaeT wier ¥ I S R T T o T 3

aPEr et =t TS | gelt g AT farT -t g

oklet -

Klet. . .
(ii) FaR I W B FETER WvA-URaehT & g e ugi

Wt WEAT Bl BT THE 96 B A 16 A W E | et

TRt e oo/ W AT g 1 T A A Hitae

O et ot e i v B gt af e
2 F AT I AT IH ANCTHT IS W U O TE

TH-RAHTA S | 39 foTe et vt faee fear s |
I &g T AL AR TI-YRAHT AT oA SR HY T
& amut arfafia qwa faar s |

(iii) 39 it % 915 UeH-gReehT St 3 =T OMR 956
3ifeh X 3T OMR Ueh ohl 5hH ST T 9 -ReehT TR
FRTIT |

Teieh W9 o ey =R e farehed (A), (B), (C) @2 (D) i@ =

£ | MUY eI TR o LI ol U W 9T ShTeAT ST € STl

foh e femmr T &

wEwwm: A L _NGY)

STaifeh (C) WETSWE |

5. T oh ST charet WA O 1 % o1 o T SeR-wereh Wt 3ifeRa

will € 1 3 3T TR TR W T g o STt Rt ot
T W IR FereAitehd e €, A ST qodiehT Fel en |

6. T &8 T Rl I egEE 0 |

7. = M (Rough Work) 38 qReet o 3119 T8 W K |

st A 31T ITR-TRAHT T ST A A7 UH FHiE S R e

1Ies, grrueht we= &l Heh, fohell St 9T R g9 & 3ifeha et & ot

elf e 35 ot avaier sifere oot fodt ST |

TR TRIRT T & TR Je9-gReh td OMR 3TR-T5h

ToReTeh HE G ol AT SNTevdeh & 3R TRIeT Tl o 15 3§

he 37O 1Y T 9o H dTeY 7 i ST |

10. eret Arel/HTet STel WIEE 4= &1 & TATe Y |

11. frelt off R BT HUTH (FeTpeler) a1 ART ol AT B
yarmafaa |

er
heet

AC)
n4t'he

9.
swer

12. There is no negative marks for incorrect answers.

12. TTeTd 31 & foTT I3 3ieh 1S A& T A |

J-12-10

P.T.O.

1

Latest Sarkari Jobs, Govt Exam

Results,

Vacancies and updates on one click




HOME SCIENCE
Paper - 11

two (2) marks. Attempt all the questions.

Note : This paper contains fifty (50) objective type questions, each question carrying

Following is not an essential amino 8. The pocket that is applied on the
acid. surface of the garment is
(A) Lysine (B) Methionine (A) Kangaroo pocket
(C) Alanine (D) Phenyl alanine (B) Welt pocket
(C) Yoke pocket
To reduce the risk of atherosclerosis, (D) Bound pocket
the LDL and HDL levels should be
(A) LDL below 200 mg %, and 9. The standards for space to be
HDL above 40 mg % provided all around a building is
(B) LDL below 240 mg %, and referred to as
HDL above 50 mg % (A) Setback (B) Ventilation
(C) LDL below 200 mg %, and (C) Open space (D) Landscape
D) EID?II: li)eél(; ‘2;4(2) 4r8g r(ryfg %. and 10. The s‘cientifi‘c study qf man and his
HDL above 40 mg % ol g o ironmnt i
The record of food store inventory is Eg; E;(%?E (s);rmuciication
kept in (D) Occu atiolt)lal health
(A) Ledger (B) Stock Register P
(C)  Cash Book (D) Journal 11.  Anexample of cross-sectional study is
_ _ (A) Comparing individuals of
The iron requirement for a pregnant various ages at the same time.
mother is (B) Continued observations of the
(A) 30mg (B) 32 mg same individuals.
(©) 38mg (D) 36 mg (C) Careful description by the
r her.
The enzyme responsible for (D) glslearc t;at requires no
digestibility of fats in human body is manipulation.
(A) Lipase (B) Amylase
(C) Renin (D) Protease 12. Dyslexic refers to individual who
have difficulty in
Degree of polymerization for (A) Learning to express
polyester ranges between (B) Learning to stand
(A) 50-70 B) 90-115 (C) Learning to read and write
(C) 115-140 (D) 140-165 (D) Learning to speak
Which of the following dart is drawn 13. The type of communication best
till the pivot point ? suited to address an agdlgnce is
(A) French dart (A) Group communlcatlon' ‘
(B) Fish dart (B) Interpersonal cpmmunlcatlon
(C) Designers’ dart (C) Mass communlcatlon o
(D) Dressmakers dart (D) Cosmopolite communication
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1. TAfiad e Tevas ST 37 el & 8.  TIYIeH UR oS ST el ot &
(A) ATEE (B) TferTE (A) SHTETHe (B) oo Ui
(C) e (D) fwrTEet Uer (C) Awdifhe (D) SISUE Hithe
2. UPRREHCRIAY & GR & HH T & 9. TRd waT & =R AR Eel @ 9 &
T € e (A) THEE  (B) T
(A) Q&f:;’rrw 200 mg % ¥ FH R (C) =Et®=™ (D) 4534
TE.EL.UA. 40 mg % © ATah )
(B) TSI, 240 mg % & F AR 10. T T 36H P HEACH TR
A 3T o T Fadl & 2
TE.ELTA. 50 mg % | 3w .
(C) TAATA 200 mg % ¥ FH AR Eg i
T.ELTA. 40 mg % 9 FH © wa' SR
(D) TUEASLUA. 240 mg % ¥ &7 3R AT
T T 40 mg % § (D) SHETHTRS T
3. @R HUSK & WHrd-gE & S 11. 'E@Eﬁﬁﬁmsé D
fep T ST R 2 il W%(W-W W) H TH
(A) TR (B) HUSR-UST ST E 7 ‘
© FaTE (D) (A) g@jﬁfﬁa%ﬁmaﬁ%wﬁw
4. wF M A6 % feAu e ol @ (B) S@I eAfAl ohT ST WTOT |
SRl 2l € ? (C)  Tierehet ZRT A foero |
(A) 30 faferma (B) 32 fHiewm (D) 3EH oerEd  fAod i
(C) 38fiemm™ (D) 36 Fiemm FHITTA <l ST T&l & |
S. WW‘%W@WQ;W 12. SE&iEES 39 Afd $ 2T & g,
ESRIEEIEL T PR wemedy
(A) oedd (B) uiHe™ (A) SR e i
(©) (D) wicTd (B) ST e draw |
6. TIfTUER & TeU GicTERIEsIv el § el © WW%@ A |
qH BT ? (D) e 9= °
(A) 50-70  (B) 90—115 13. TF T F o 5 o waien
(© 115-140 (D) 140-165 UG WX o TR hi T el © 7
7. ettt @ e =id 1 i g (A) T TR
e ST e 2 (B) 3iR-aafedes ¥R
(A) TEEE (B) TweTER (C) SR
(C) TesTe@ el (D) SHHHYT T (D) TavaweE TaR
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14.

15.

16.

17.

18.

19.

Expansion of IEC is

(A) Information, Electronics and
Communication

(B) International Export Council

(C) Information, Education and
Communication

(D) Indian Economic Council

Which among these can be used for

demonstration purposes ?
(A) Flat pictures

(B) Exhibit

(C) Flannel Boards

(D) Displays

The most appropriate statistical test
for analysing quantitative data is

(A) chisquare (B) sign test

(C) t-test (D) median test

Two variables are said to be (+) vely

correlated if

(A) The change in one variable
results in a corresponding
change in the other variable.

(B) The change of the variables is
in the opposite directions.

(C) The two variables are similar
in nature.

(D) The two
dissimilar.

Which of the following method is

used to test reliability of a

measurement instrument ?

(A) Observation (B) Test retest

(C) Interview (D) Split half

Assertion (A) : Consumption of
plenty of fruits and vegetables

variables are

protects  individuals  from
certain cancers.
Reason (R) : The antioxidants

present in fruits and vegetables
help in the removal of free
radicals.

(A) Both (A) and (R) are false.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true.

(D) (A) is false and (R) is true.

20.

21.

22,

23.

24.

Assertion (A) : Green leafy

vegetables turn brown in
colour on cooking.
Reason (R) Chlorophyll pigment

gets converted to phenophytin on
application of heat.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : A  Kwashiorkor
child shows oedema of the
lower limbs.

Reason (R) The kidneys are
not able to excrete sodium thus
causing water retention.

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are true.

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are false.

Assertion (A) : Surface designing
includes printing.

Reason (R) Printing is a form of
applying colour all over the fabric.

(A) (A) is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true.

Assertion (A) : In a seam notches
are given in an outward curve.

Reason (R) Smaller area falls
over bigger area.

(A) (A) is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Assertion (A) : The quality of
decisions determine the quality
of management.

Reason (R) Decision making
occurs when there is a problem to
solve or some choice to make.

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.

(C) (A) is true, but (R) is only
partly true.

(D) Both (A) and (R) are false.
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14.

15.

16.

17.

18.

19.

AELT. H Y FT FTE ?

(A) THHYHE, —IoHRIME g
FHEGFRT

(B) T USHURE HISHEeT

(C) THHIM, ECNE we
FHEGRT

(D) TSI THMHIHE HISHA

SARYH & $2¥g § Fefatea 7 9
TohreRT ST feharn ST EeheTT & 2

(A) wRUFET (B) ufEe

(C) woe aied (D) fewwrs

O el & [O9evul & fou
(A) FEWEIR (B) WEAE
(C) A<= (D) WfeTm &=

T W B gAIHF T Y FeGeird T

ST €, 5

(A) T W H URaH g W H
TETEY IR AT |

(B) =R 1 UReeH fordia feem o grar
g

(C) THI =R Uepia § FHA & |

(D) SR A |

U AT SUROT Hl [avaGFar
STreH o foTu Feterad J 9 fo fary s
ST foha ST e 2

(B) Sfra-gsi=

(A) TeToT
(D) To=ea®

(C) JrgcehR

ANHAT (A)  : Al a7 Hiesrdr o
TR AT | Yo S T B TR
o HEY Y =T AR |

%R (R) : el o gfestEr |
ot & RIERR0T | et
g

(A) (A) TN (R) I TATE |

(B) (A) @& g @™ (R) T € |

(C) (A) @™ (R) I EEIE |

(D) (A) T E TN (R) W€ |

20.

21.

22,

23.

24.

AU (A) : B Ul drell Qiestar
T TR SR T HT & SA |
HRT (R) ! ARGS9k TRA

B BHEERA H aRafdd B & |
(A) (A) T (R) S TR £ |
(B) (A) TN (R) S TEIE |
(C) (A) TEIe, R (R) TT& |
(D) (A) T &, W] (R) Tl € |

ATBHUT (A) : TH FAMNERF B
I AT SSHT WA Bl & |

&HRT (R) : TS difeTm 3t
R T eTT Tl el STeh horaeq
YRR H U TR & ST e |

(A) (A) W& T (R) Tor & |

(B) (A) TN (R) S TIE |

(C) (A)TTewd & 791 (R) Wl € |

(D) (A) TN (R) I TAT & |

AT (A) : e Hi Tesed w
T DTS WA ¢ |

HRUT (R) : BUE % FHE F GUOT
o i o7 T ST 8 |

(A) (A) W&, R (R) Tod € |

(B) (A)Tewd &, W] (R) Wl & |

(C) (A) TN (R) H T & |

(D) (A) T (R) S TIE |

AfpUT (A) : o H T SRl
Th R GISAE |

%R (R) : DI G T G W
iR |

(A) (A) W&, R (R) T € |
(B) (A) T &, W= (R) Wl € |
(C) (A) @& (R)IMEEIE |
(D) (A) TN (R) I TeAd & |

AfHIT (A) ;0T S TUTERT T
! TUTErIT ST FTEROT AT § |
&HROT (R) : o e &

JMAYAHAT a9 Bl & ST Tl
AT 1 UM ST & 91 S
ot foreped T T HET & |
(A) (A) T (R) S TEIE |
(B) (A) W&, W< (R) T € |
(C) (A) Tel &, W] (R) FHaeT 3TiTemeh
TR E |
) (A) @ (R) IHI T € |
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25. Assertion (A) : One of the best 29.
styles of parental discipline is
democratic pattern.

Reason (R) : Both parent and
the child discuss and take
decision.

(A) Both (A) and (R) are false. 30

(B) Both (A) and (R) are true. :

(C) (A)istrue and (R) is false.

(D) (A) is false and (R) is true.

26. Assertion (A) : The effectiveness
of audio visuals rely upon the
skill of the user.

Reason (R) : The AV aids are
selected on the basis of the
criteria used for teaching and
learning.

(A) (A) is false and (R) is correct. 1

(B) Both (A) and (R) are true. 3L

(C) (A)istrue, but (R) is partially true.

(D) Both (A) and (R) are false.

27. Assertion (A) : Campaigning
which is an educational
extension activity helps to
mobilize and solve the
problems of a community.

Reason (R) : It is done to seek
emotional participation of the 32.
community for adopting new
practices.

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is false.

(C) Both (A) and (R) are false.

(D) (A) is correct, but (R) is
partially correct.

28. Give the correct sequence of steps

involved in bread making.

a.  Making dough with flour 33.

b.  Adding yeast to warm milk

c.  Punching the dough

d.  Rising the dough

e.  Proofing

f. Baking

(A) a,b,c,d,e, f

(B) a,b,d,e,c,f

(C) b,a,d,c,e, f

(D) b,a,d,e,c,f

Give the correct sequence of foods in
decreasing order of protein content.
a. Suji b.  Moong dal
c. Greenpeas d. Sweet potato
(A) b,c,a,d (B) c¢,b,d,a

(C) a,b,c,d (D) d,a,c,b

Give the correct sequence of

appearance of iron deficiency

anaemia (IDA).

a. Fall in serum ferritin level.

b.  Decrease in stainable iron in
bone marrow.

c.  Fall in hemoglobin level.

d.  Exhaustion of body iron
reserves.

(A) a,b,c,d (B) d,b,a,c

(C) b,c,d,a (D) c,d,b,a

Give the correct sequence of
preparation of fabric for cutting.

(A) Blocking, straightening,
marking, pressing.

(B) Pressing, blocking,
straightening, marking.

(C) Straightening, blocking,
pressing, marking.

(D) Marking, pressing,

straightening, blocking.

Give the correct sequence of

processing the linen fibre.

(A) Rippling, Retting, Scutching,
Hackling.

(B) Retting, Rippling, Scutching,
Hackling.

(C) Scutching, Rippling, Retting,
Hackling.

(D) Hackling, Rippling, Retting,
Scutching.

Arrange the level of mental

retardation in ascending order :

(A) Moderate, profound, mild and
severe.

(B) Profound, mild, severe and
moderate.

(C) Mild, moderate, severe and
profound.

(D) Severe, profound, moderate
and mild.
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25.

26.

27.

28.

AHAT (A)  : HAG-UEE SR
# wEWH e H ¥ TH
YT TSreh U2 & |

%R (R) ¢ HTT-TUT e Sreteh
IR sRaT g qdr M e €

(A) (A) IR (R)IF AT E |

(B) (A) 3T (R)SHI eI & |

(C) (A) W& AR (R) TATE |

(D) (A) T € 3R (R) Tl & |

Afpe (A)  : S¥I-31sT AT Hi
SUANTRAT

EAR G
RAREAE |
#HRT (R) : GYI-9 QAT HT
TI freToT qen FH-m & ferw
TR HHEUS % SMER W foRar
SATE |
(A) (A) T g @1 (R) FEI € |
(B) (A) TN (R) S TEIE | ‘
(C) %%w“r%,maa)aﬁmwﬁ
|

(D) (A) T (R) T oA & |

AfFHT (A) : TER  ANEE, S
JreUTeh foaR S Uk Tidtey €,

(A) (A) T (R) S TEIE |

(B) (A) W&, <] (R) Tad € |

(C) (A) TN (R) I TeAd & |

(D) %%w“r%,m(maﬁmwﬁ
|

BT U o H ° Tfed =N 1 @
WW@

3T Y A I

TRY 4§ TR et

A oA diemT

T § 33 3T

g

EIET)

(A) a,b,c,d,e,f (B) a,b,de,cf
(© b,a,dc,e,f (D) b,ade,cf

mo a0 o

29.

30.

31.

32.

33.

T i =t g8 A o 79 § efead
e YR ShT SHEd hifTU

a.  goft b. HRW

c. ®iuX d. VGRS

(A) b,c,a,d (B) c¢,b,d,a

(C) a,b,c,d (D) d,a,c,b

W W HH ¥ A Sl SReRr
(3MEENT.) o Vehed o el ST
T

a.  RA BRieT ¥R § fiRER

b. ARF-TSST § WAGH ITRRA H

T

c. gmretsH R ¥ fiRee

d. IR H RET AR-9YUSR
BRI

(A) a,b,c,d (B) d,b,a,c
(C) b,c,d,a (D) c,d,b,a
HeTe o ToTU a6 i TR L 1 TEl hA
AT

(A) AR, G AT, o e,
T AT

(B) TERI AT, SeAlehT, FrEm e,
e e

(C) T AT, AR, T T,
e @

(D) e OFTFAT, & e, e
AT, AT

ToT = =T o TichaTeRToT % Tel 31T hi
ERIER]

(A)  Roafer, g, wehter, SfeemT
(B) g, RoafemT, Thien, gfdenT

(C) T, Rogfer, A, &l
(D)  &feer, Roaferm, ¥fgm, whiem

urq fafesor & T A AR HE H
AT I

(A) TIEE, MHSE, HIEeS T R
(B) WIHISS, AIEee, MAla@R T4 Aiete
(C) TTETe, Histe, MR a1 WHES
(D) fafeR, WSS, Hieie I ArEes
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34. Give the right sequence of Home

35.

36.

37.

Management Process.

1. Energising 1.  Evaluation
iii.  Planning  iv.  Adjusting
v.  Checking

Code :

(A) iii, i, v, iv, i (B) i, i, iv, iii, v
(©) v, il i, iii, v (D) v, iv, iii, ii, i

The sequential order of
communication is

L Message  ii.  Sender

iii.  Decoder  iv. Encoder

v. Receiver

(A) i, 1, 1v, i1, v (B) 1, ii, 1v, iii, v
(©) i, 1, 1v, v, il (D) iv, ii, iii, i, v
Arrange in the correct sequence from
the lowest to the highest scale of
measurement.

a. Interval scale

b. Ordinal scale

C. Ratio scale

d. Nominal scale

(A) d,b,a,c (B) a,b,d,c

(C) b,a,c,d (D) b,d,c,a

Match List — I with List — IT :

List -1 List - 11
(a) Cyclic 1. Menu of the
Menu day
(b) ALa 1. Set menu
Carte
Menu
(c) Table d’ iii. Choice of
hote dishes
Menu
(d) Dujour iv. Menu
Menu rotated at
definite
interval
Code :

(@ @ @© (@
(A) iv il i i
B) i i i v
© i i i v
D) i iv i i

38. Match the Hormones in List — I with

39.

40.
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Diseases in List — II :

List -1 List - 11
(Hormones) (Diseases)
(a) Insulin 1. Goitre
(b) TSH ii. Hypertension
(¢) Renin- iii. Cushing
Angiotensin syndrome
(d) Cortisol iv. Diabetes
Code :

(@ (b (© (@
(A i i i v
B) i iv i il
©) iv i i il
(D) iv i i i
Match the deficiency disease/ symptom
in List — I with nutrient in List — II.

List -1 List - 11
(Deficienc .
Disease/Sympi,om) (Nutrient)

(a) Pellagra 1. Iron

(b) Beriberi 1. Niacin

(¢) Koilonechia 1ii. Ascorbic
acid

(d) Xerophthalmia iv. Retinol
v. Thiamine

Code :

@ () () (d)
(A v iv il il
B) i v i v
<o i i i v
(D) i vl v
Match the description given in
Column — II with the terms given in
Column - L.

Column - I Column - I1

(a) Ciré 1. Fabrics with
wavy pattern

(b) Plissé ii.  Wrinkled
fabric

(c) Suede 1. Highly
polished fabric

(d) Moire iv. Fuzzed surface
fabric

Code :

(@ @ (© (@
A i i i iv
B) i il iv i
© i iv i iii
D) iv i i



34.

35.

36.

37.

T VIS W{shAT B el STIERH Seled
i SeawEr i godied

iii. FrSE iv. gHERH

v, =

HIE

(A) iii, i, v, iv, i (B) i, i, iv, iii, v

©)

v, 1, 1, 11, v (D) v, 1v, 1ii, 11, 1

TR T STIghTH A FTE 2

i R ii. uwE

jii. fewrex iv. T

v. WU

(A) i, i, iv, i, v (B) i, ii, iv, iii, v
(©) i i iv,v,iii (D)iv, ii, iii, i, v

YT % Y 9§ STEaW THH o Gl
3TTohH T A il :
a. TXAATPA b,
c. v e d.

FifeTeT Thet
T et

(A) d,b,a,c
(C) b,a,c,d

(B) a,b,d,c
(D) b,d,c,a

A — 1 & g — 11 & 9 gafed

HITTT
et - I el - 11

(a) UEfiss i ST HIEY
Lt

(b) 3T &t ®E ii. FEmdEyg
Lt

(c) A T iii. THAHT T =TT
LRy

(d) SR~ iv. HvEd iR
= R TR-EOR 9

3T STl B

S :
@ (b (© (@

(A iv i i i

B) i i i iv

© i i i v

D) i

38. e - 1 H ©¥ T W & e
et — 11 ¥ T3 T3 At 9§ hifeu
et - I el - 11
" (FM) (@
a) 39 B 1. TR
o ?ﬁ?ﬁ i e favgim
(c) ii. g
S GG
a%_g ﬁﬁ:@a iv. SrEfeErsT
@ @b (© @
(A 1 11 - iv
B) i iv i ii
© iv i i i
D) iv i i i
39. Wﬁﬁ‘fﬁ%ﬁﬁ%ﬁ&f&ﬁ&ﬁﬁ(
AT (A - ) N uifesw  q@r
(gt - 11) ¥ foerea
~1 e - 11
(uifeee aat &t
HH W T areft (v a=)
ST / T87oT)
(a) GeAm i ofer
(b) SR =RY ii. At
(c) jii. UEhIeH
A
(d) SRferan iv. e
. v.  oEmEe
@ @b © @@
(A) v v i il
B) i v i v
© i i i v
D) i v Qi v
40. ™ — I ¥ fe@ ™ fgaror &1 e

TR — | 7 {53 79 ST & 91 iU

w -1 wr - 11

(a) FPR i CERARR U ol
SEl

(b) form i foege Ged amen
LSl

(©) iii. AT ifeTeraTet Haet

(d) iv. ®AMT T  drel
£

FE:

@ ® © @

(A 1 111 n - iv

B) i 1 v i

© 1 1v i 1ii

(D) 1ii
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41.

42,

43.

Match the collars given in Column — |
with their types given in Column — II.

Column - I Column - IT
(a) Peterpan 1. Convertible
(b) Stand and fall 1ii. Stand
(¢) Roll 1ii. Non-
convertible
(d) Shawl iv. Grown-on
Code :

(@ ) © @

(A) 1 i dv 1

(B) i 1 in v
<O 1 v i il
D) v 1 i iii

Match the effect given in Column — II
to the finish mentioned in Column — 1.

Column - I Column - I
(a) Parchmenti- i. alter lustre
zation
(b) Beetling ii. alter drape
(c) Embossing 1ii. raises fibre
surface
(d) Gigging iv. creates
textures
Code :

@ @ (© (@
A i iv il ii
(B) iii ii i v
© 1 i iv il
D) iv i il i
Match the List — I of Mundel’s
classes of change with List — II of
activities.

List -1 List — II

(a) Change in i. Making use
raw material of  Mixer

grinder

(b) Change in 1ii. Instant
finished Dosa  mix
product powder

(c) Change in iii. working in
equipment standing
and work position
place

(d) Change in iv. square puri
hand and instead  of
body motion round

Code :

@ @b (© @@
(A) 1 v i 1
B) i iv i iii
© i v i i
(D) 1 i v il
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44. Match the following List — I with

List —1II.
List -1 List - 11
(Pattern of
. Development of
(Age in Months) Hand
Coordination)

(a) 4 months L

(b) 5 months 1.

(c¢) 8 months 1ii.

(d) 9 months 1v.

Code :

(@ @b (©
(A) il i ii
(B) iv  iii i
© i iv il
D) i iv il

45. Match the statistical

Pincer grasp
perfected

See but can
not contact

A cube in
each hand

Palmar
scoop

test in List — [

with the description in List — II.

List - 1
(a) t-test L

(b) F-test 1.

(¢) Chi 1ii.
square
(d) Pearson’s iv.

Code :

(@ @b (©
(A) i iv il
B) iv i ii
<o i i il
D) iv i il

List - 11
testing
difference  in
means of more
than two groups

data is in
frequencies

bivariate
distribution

testing
against
population
mean

mean

i



41.

42,

43.

T - [ 9 K ™ FeR o Hea
T — [1 T 153 T 37k UhRT o | ShifoTy

w -1 wr i -11
(a) dRET i OUREaHE
(b) WeTARFRT Qi W@er
(c) A iii. STREdHT
d) ¥ iv. -3

@ B © @

(A) i i iv i

B) i i i iv
©) i v i i
D) iv i i il

T - [ H & T U & A
T — [ 1 58 T TR o WY i

-1

e -1I

(a) UHCTESI?E i ©He i URaidd
FIATE |

(b) SreferT ii. sE-fa=ag @
REfad e |

(c) THITET iii. YT ® TAE Bl
IIAE |

(d) ffmT iv. 9=
FHATE |

S

(@ (b (© (@
A 1 v i1
B) i i i iv
C) i i iv i
D) iv i i i
— 1 7 f§U 0 _HSA FRT Wuied
%ﬁarrawrj‘rga?m g@ -0
e :
Lo | ‘ el - 11
(a) F=d AT H { HER WER
aRERH ‘ T STANT
(b) TR IO H il TLE M
IREe TR TS e
(c) IR TAA iii. TS B HH
A HET
IREe
(d) 8@ T WR iv. TR T
H A H We A
IReEe TS

HS:

@ ® © @
(A) 1 v i 1
B) i iv i iii
© i v i i
D) i i v il

44, T — 1 G — 11 % 91 T i :

45.

et - I el - 11
- (F= gH=ET % U
(3, W ) &1 fawm)
(a) 499 i fomer ¥ wwe @
T ST T Fehell
g
(b) 57 ii. 3@ g1 €, W Y el
HehaTl |
(c) 84 iii. I BT T TR A
A GHATE |
(d) 9WE  iv. TR @ |
S :
@ (b (© (@
(A) i i i v

B) iv i i i
©) i iv i i

D) i v i i

Tt — 1 H 51 ¢ Hiftershra gt w1 et
el — 11 9 531 73 feraron @ whifTg

et - I e - 11
(a) 2L i T W IAUE gt
o " H A i
e
(b) THIE i 3iihe TRARATH &
(c) =2 jii, aTeaRue faeRoT
RS opny
(d) TRET  iv. SHEEA W H
Toreg ATe ST
S :

(@ @ (@© (@
(A) i iv i i
B) iv i i iii
©) i i i v

D) iv i i i
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46. Match the following items in List — I

with List — II.

Read the passage below and answer
the questions that follow based on
your understanding of the passage :

List -1 List - II
(a) CDROM 1. Interactive Poverty underlies - the p 00t
Multimedia health status of most of the Indian
population, and women represent a
(b) Video il Folk media disproportionate share of the poor.
Conferencing Women’s relatively low status and

(c) Satellite

iii. Computer

the risks associated with

technology stored reproduction exacerbate what is
media already an unfavourable overall

(d) Mime & v. Global health  situation. Reliable and
Puppetry Networking disaggregated statistics on health are
media difficult to come by, and this

difficulty is acute  regarding

Code: women’s health. Official health
@ b)) (© (@@ records are not comprehensive or up-
(A) i T ; todate, and so-called “female health
conditions” are not considered health

B) w1 v i problems, either by health care
©) i i i iv professionals or by  women
. a themselves. Reproductive health
D) iii v ! 1 problems fall into the realm of

47. Match the following items in List — I

with List — II.

‘private and unspoken diseases,”
leading to a culture of silence.
Consequently, most diseases go
unreported. The fact that a majority

List - I List - II of health care professionals in rural
(a) Slide ii  Non projected areas are men adds to the hesitation
visual aid to seek medical help. The social

(b) Radio  ii. Projected audio- distance between women and the
B s health care service center or provider

visual aid -

because of gender, caste, or class is

(c) Chart  1ii. Audio aid even greater than the geographic
(d) Video  iv. Projected visual distance, which itself is a deterrent.
aid Millions of women simply lack the

freedom to go out and seek medical

Code:: help. According to the second
@ b (@© @ National Family Health Survey,

(A) iv il i ii (International Institute for
B) iv ; i i Population Sciences, 1998-1999),
‘ ‘ only 52 percent of women in India

© i i i v are ever consulted on decisions

(D) i v i about their own health.
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46.

47.

freferiad get — 1% usi &l gt — 1 9
AT T :

et - I e - 11
(a) AEIW i. i veet
Hitean

(b) difeat ii. e Hitear
s

(c) GeomEe jii. FORX e
EEIED miean

(d) 9EH  TIE jv. ToAA AearT
et mifear

(@ b (© @

(A) i iv i i

©) i i i v

et — [ 1 geit — 11 ¥ fgerea

et - I e - 11

(a) ®EE i AW PISErE
fersgerer ve

(b) FeA i USRE el
fersgereT Ue

(c) =& iii. siifear v

(d) dfear  iv. ueRe  fase
ug

HE
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i 1S3 T RIS BT uled AT $9 T
N SO TS F YR W TE i o
T 7 99T o 3T T

IR ol R & Th I8 9N &
TR W i TS J@iiehel el & e
Higod TRIsT & U STIHH A h
AT el & | ATEeTsil i ST
11 AT et e usie & Seitd
TR WA ¥ SIS 3R SIS
T ol SRR ST ST & | WA & TR
fovaga e sreataa Wit &
TR H 3T hicH & T Higemal &
W % {9 § 98 Ush TR HieE & |
I @R e gfewga ae
fefqar @ &l @ WA A
AR AT @WE sl FN
TR YH@NE F&l /A St | ISt
T getyg o el qeur ST
SiEr o & | 3Tt § S HiT T
TEpia H viawierd eidl & | 37 iR
AT 3FFE @ S © | Tafshed
TETFAT elaet T § 1315 ol I8 e
3R off =T 3T & T T €5 A @
T G- TeT TR STl HHAR! 6T Bl & |
fiifeter St % § Uk ek o &, T
fomT, St & =t & RT3 B Aol
Alee3Tl qAT W g I7 Tk Tadh &
a1 Qe O 39d off 99T arEeh
T & | A A vt § e S
eheTeRy Fafeheder TeTardT gt o ot
AT el € | Tl I UReR e
FIET (32T SEeFL S qYerer
TEGST, 1998-1999) & R ¥RA H
&% U &S hael 52 U9 Afgerat ¥ 37
W 9 Heifya ol & aR 9 Felre-
TRTERT TohaT TR |



The average Indian woman is
100 times more likely to die of
maternity-related causes than is a
woman in the industrialized world.
About 15 percent of pregnant
women in India develop life-
threatening complications (Mahbub
ul Haq Development Centre, 2000:
127). Maternal mortality in India,
estimated at 407 maternal deaths per
100,000 live births, results primarily
from infection, haemorrhage,
eclampsia, obstructed labor,
abortion, and anemia. Lack of
appropriate care during pregnancy
and childbirth, especially the
inadequacy of services for detecting
and managing complications,
explains most maternal deaths. In
rural areas, over 80 percent of
deliveries occur at home, assisted by
older household women and
traditional birth attendants (dais).
The unhygienic conditions in which
rural deliveries usually occur often
lead to infection in mothers and
newborns. Infection and excessive
bleeding are the largest causes of
maternal  deaths. Iron-deficiency
anemia is widespread among Indian
girls and women and affects 50
percent to 90 percent of pregnant
women. Childbirth closely follows
marriage, which tends to occur at a
young age : 30 percent of Indian
females between the ages of 15 and
19 are married. Child bearing during
adolescence  poses  significantly
greater health risks than it does
during the peak reproductive years
and contributes to high rates of
population growth.

48.

49.

50.

Match the following items in List — I
with the items in List — II.

List -1 List — II

(a) 15% 1. Delivery at home

(b) 50-90% ii. Develop life-
threatening
complications

() 52% 1ii. Anaemia

(d) 80% iv. Never sought
medical help.

Code :

(@ @ @© (@
(A) i i iv i
B) i i i v
©) i i i v

D) iv i i i

Assertion (A) : Female
reproductive health problems
generally are well reported.

Reason (R)
health problems fall under the
category of
unspoken diseases”.

(A) (A)is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are false.
(D) Both (A) and (R) are true.

Reproductive

“private  and

A major determinant of the social
distance between women and health
care services is

(A) Geographic distance

(B) Caste
(C) Age factor
(D) Family
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7T % IRE SEd YR
T qoT H G I N € | 9RA |
ST 15 UiAed Tedt Afeemst |
STFere STieeramd foehie et & (Hess
3 &% SaAUHe WX, 2000 : 127) |
IR § U9 & IR 9F o 9K § T8
SFAE @R T g % wfE 100,000
SHifera fore] wra ® 407 Afgetait s 9o
2 ST &, S T SROT € ¢ WehHAv,
TR YT, TSRO, UG | 37eriY,
YT TAT YSRATCAAT | AT T Fors]-
ST o SR THfed SE@-HTeT i HHF a2
fooe: Siectaret &1 Uar oI e
o & 9 getgd dened o
AT, WG St 37t | g Al geg
I AT HA € | T & H, gRear
H e[ Afgemell T URURS  wEd
TRTIeRT3Tl (ITET) i Tl ¥, T9d 3
o T ST & | U7 S § U R
1 1 ez [afq & T8l gar qer
g AT TS oSt {919] St WshoT
TR 7 @Al © | GhET AT AR
TS FHIHTA Jog o T T HROT
£ | olig e i S W Seq TeRATed
IRATT Tfererret qer Afgersti § =g &
qAT A8 50 T 90 WAL Tl HigeTa
H IS A & | T o SAARERT
TE HRT [T &, ST Bl 39 § 5
ST E | 9IRAT AR o 30 WA ST
faaE 15 - 19 H SHAST A E |
IRUFS W H USHA FA H o |
TReTITeRe § MR § 98 W
T 3T i & AT T8 ST h Iy
! 3o gL H A JITEH AT |

48. A — 1% 9a1 ! gt — 11 ¥ fHered

et - I e - 11
(a) 15% i WHUYET
(b) 50-90% ii. SHET

St
foreRtara g

(c) 52% fii. AT
(d) 80% iv. w Tafehed
HETIdT Tel o
S :
(@ (b (© (@
(A i i iv i
B) i i i v
© i i i v

D) iv i i i

49. HUT(A) : TR HN USFH @A
T AR W JeATia grad
B E |
HROT(R) @ T W GHEM i
3R e dmiEr w5t goft §
AT |
(A) (A) TEIE 3R (R) T & |
(B) (A) TdE, W (R) TEIE |
(C) (A) IR (R) ST € |
(D) (A) 3T (R)SHITEIE |

50. HieoT 3 3G W@ e Yol & g
H gESE W W THF HERE

g

(A)  rifersh g2

(B) wia

© g

(D) URER
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